BID TABULATION 8/21/2019EXHIBIT A - BID FORM (COF 2019-0236) (Amendment 1) CONTRACT NUMBER - COF 2019-0236

MUNICIPAL SERVICES COMPLEX IMPROVEMENTS

		PROJECT QUANTITIES (COORDINATE WITH FOOOTNOTES)			Civil Bid	
FOOTNOTES	ITEM NO.	ITEM DESCRIPTION	TINU	QTY	Ë	TOTAL
	105-01	CONSTRUCTION STAKES LINES AND GRADES	L.S.	_	\$49,284.00	\$49,284.00
FOOTNOTE 1	202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS IN ACCORDANCE WITH SECTION 202-01 OF THE STANDARD SPECIFICATIONS	L.S.	_	\$19,315.00	\$19.315.00
	202-01.13	REMOVAL OF PIPE (15" STORM)	L.F.	32	\$48.00	\$1,536.00
	202-03.02	REMOVAL OF RIGID PAVEMENT	S.Y.	762	\$26.00	\$
	202-08.10	REMOVAL OF CURB (EXTRUDED)	L.F.	16	\$19.00	
	202-08.15	REMOVAL OF CURB AND GUTTER	L.F.	1271	\$7.00	\$
FOOTNOTE 2	203-01.77	EARTHWORK (INCLUDES ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED, BORROW EXCAVATION (UNCLASSIFIED), EMBANKMENT (UNCLASSIFIED), STRIPPING & STOCKPILE TOPSIOL AND PLACING AND SPREADING SOIL TOPSOIL)	L.S.	_	\$202 742 60	\$3
	203-05	UNDERCUTTING (UNIT PRICE BIDS INCLUDES SURGE STONE BACKFILL) (AS DIRECTED BY THE ENGINEER)	C.Y.	500	\$87.00	
	209-03.20	TEMPORARY FILTER SOCK (18" TYPICAL)	L.F.	1051	\$11.00	
	209-40.30	TEMPORARY CATCH BASIN PROTECTION (FLEXSTORM INLET FILTERS WITH OVERFLOW PROTECTION - SEE DETAIL)	EACH	13	\$166.00	
	209-40.31	PERMENANT CATCH BASIN PROTECTION (ADS-FLEXSTORM PERFORATED STAINLESS STEEL FULL TRASH CAPTURE INSERTS - SEE DETAIL)	EACH	15	\$994.00	\$14 910 00
	209-40.31	INSTALLATION OF PERMENANT TRENCH DRAIN SCREEN OVER EXISTING PIPE (SEE DETAIL SHEET C300)	EACH	2	\$994.00	\$1,988.00
	209-99.91	CONCRETE WASHOUT (SEE DETAIL)	LS	1	\$5,475.00	\$5,475.00
FOOTNOTE 3	303-01	MINERAL AGGREGATE TYPE A BASE GRADING "D"	TON	2500	\$24.00	\$60,000.00
	307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2 (TEMPORARY TRENCH REPAIR FOR UTILITIES)	TON	200	\$239.00	\$47,800.00
	403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	TON	2	\$1,029.00	\$2,058.00
FOOTNOTE 3	407-02.13	REMOVAL & DISPOSAL OF EXISTING ASPHALT PAVEMENT	S.Y.	8555	\$12.00	\$102,660.00
	407-20.05	SAW CUTTING ASPHALT PAVEMENT, (TO BE USED AS DIRECTED BY THE ENGINEER FOR CONNECTIONS AT EXISTING ROADWAYS. IF THE CONTRACTOR ELECTS TO SAW CUT FOR OTHER PURPOSES, PAYMENT SHALL BE DISALLOWED THE ENGINEER OF THE ENGINEER O	LF.	675		
	411-02.10	ACS MIX (PG70-22) GRADING D	TON	245	\$123.00	\$3,375.00
	411-01.02	COLD PLANING BITUMINOUS PAVEMENT	S.Y.	3,076	\$4.90	\$15,072.40
					70	O+.3 /0/CT¢

		PROJECT QUANTITIES (COORDINATE WITH FOOOTNOTES)			Civil Bid	
FOOTNOTES	ITEM NO.		TINU	QTY	CE	TOTAL
	501-01.03	PORTLAND CEMENT CONCRETE PAVEMENT 10" (5,000 PSI WITH FIBER REINFORCMENT)	S.Y.	6,300	8	\$472,500.00
	501-01.13	PORTLAND CEMENT CONCRETE PAVEMENT 10" (5,000 PSI HIGH EARLY STRENGTH WITH FIBER REINFORCEMENT)	S.Y.	4,555	\$82.00	\$373,510.00
	607-02.02	15" CONCRETE PIPE CULVERT (CLASS III)	LF.	237	\$181.00	\$42,897.00
	607-02.03	8" HDPE PIPE CULVERT (PER TDOT STANDARD DRAWING D-PB-2)	L.F.	60	\$67.00	\$4,020.00
	611-07.52	ENDWALL (SEE TDOT D-PE-15A)	EACH	1	\$2,149.00	\$2,149.00
	611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN (REPLACE GRATE, ADJUST TO GRADE)	EACH	3	\$792.00	\$2,376.00
	611-09.03	CORE CATCH BASINS FOR NEW PIPE	EACH	1	\$718.00	\$718.00
	611-01.01	MANHOLES, 0'-4' DEPTH	EACH	-	\$4,034.00	\$4,034.00
	611-42.01	CATCH BASINS, TYPE 42, 0'-4' DEPTH	EACH	2	\$5,274.00	\$10,548.00
	611-01.10	OIL WATER SEPARATOR (PROCEPTOR SEE DETAIL)	EACH	2	\$38,374.00	\$76,748.00
	701-02	CONCRETE DRIVEWAY (6")	S.F.	450	\$14.00	\$6,300.00
	702-01.01	EXTRUDED MOUNTABLE CURB	L.F.	16	\$44.00	\$704.00
	702-03	CONCRETE COMBINED CURB & GUTTER	L.F.	325	\$40.00	\$13,000.00
	704-01.01	CONSTRUCTION ACCESS (INSTALLED ONLY IF DIRECTED BY THE ENGINEER)	L.S.	_	\$8,912.00	\$8,912.00
	707-06.03	REMOVAL AND RESET EXISTING FENCE (AS APPROVED BY THE ENGINEER)	L.F.	150	\$30.46	\$4,569.00
	712-07.03	TEMPORARY BARRICADES (TYPE III) (TO BE USED AS DIRECTED BY THE ENGINEER)	L.F.	50	\$25.16	\$1,258.00
	713-16.35	SIGNS (YIELD, R1-2, 30"X30"X30"(UNIT PRICE BID INCLUDES PERFORATED SQUARE TUBE POST (2" MIN) AND ALL NECESSARY ITEMS FOR A COMPLETE INSTALLATION))	EACH	1	\$1.281.00	\$1.281.00
	713-16.50	REMOVE, STORE AND RESET EXISTING PARKING BLOCKS	EACH	8	\$120.00	\$960.00
FOOTNOTE 4	714-25	ELECTRICAL CONNECTION / WIRING - (SITE LIGHTING)	L.F.	314	\$18.00	\$5,652.00
	716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	L.F.	1,345	\$5.50	\$7,397.50
	716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)	L.F.	68	\$11.00	\$748.00
	716-05.06	PAINTED PAVEMENT MARKING (TURN LANE ARROW)	EÀCH	8	\$55.00	\$440.00
	716-05.21	PAINTED PAVEMENT MARKING (4" DOTTED LINE)	L.F.	92	\$9.00	\$828.00
	717-01	MOBILIZATION	L.S.	1	\$23,981.00	\$23,981.00
FOOTNOTE 5	730-14.02	SAW SLOT	L.F.	50	\$11.00	\$550.00
FOOTNOTE 5	730-14.03	LOOP WIRE	L.F.	100	\$5.50	\$550.00
	740-10.04	GEOTEXTILE (TYPVE IV) (STABILIZATION) (AS REQUIRED BY THE ENGINEER)	S.Y.	100	\$2.75	\$275.00

		PROJECT QUANTITIES (COORDINATE WITH FOOOTNOTES)			Civil Bid	
FOOTNOTES	ITEM NO.		TINU	QTY	UNIT PRICE	TOTAL
	793-13.09	2IN SCHEDULE 40 PVC (INCLUDES ALL BENDS - BENDS SHALL BE GREATER THAN 6' RADIUS) (INCLUDES EXCAVATION AND BACKFILL)	L.F.	50	\$13.00	\$650.00
	801-02	SEEDING (WITH MULCH)	UNIT	20	\$33.00	
	805-12.03	EROSION CONTROL BLANKET (TYPE III)	S.Y.	10	\$2.75	
FOOTNOTE 6	SI	6" PVC CLASS 900 FORCEMAIN	L.F.	418	\$139.00	\$58,102.00
FOOTNOTE 7	S2	CUT AND CAP/PLUG EXISTING 4" FM	EACH	3	\$991.00	\$2,973.00
FOOTNOTE 15	S3	REMOVAL OF PUMP EQUIPMENT AND ABANDONMENT OF EXISTING PUMP STATION AND RESTORATION INSIDE BUILDING	L.S.	1	\$14,678.00	\$14.678.00
FOOTNOTE 16	S4	ABDONMENT OF EXISTING OIL GREASE INTERCEPTOR	L.S.	-	\$16,617.00	\$16,617.00
	S5	ADJUSTMENT OF EXISTING MH TO GRADE	EACH	-	\$1,025.00	\$1,025.00
	S6	DOG HOUSE MANHOLE	EACH	-	\$8,246.00	\$8,246.00
FOOTNOTE 8	WI	2" TYPE K COPPER WATER LINE	LF.	297	\$82.00	\$24,354.00
FOOTNOTE 8	W2	8" DIP CL 52 WATER LINE	L.F.	77	\$174.00	\$13,398.00
FOOTNOTE 8	W3	10" DIP CL 52 WATER LINE	L.F.	1,407	\$137.00	\$192,759.00
FOOTNOTE 13	W6	2" WATER SERVICE METER ASSEMBLY (CITY TO PROVIDE WATER METER)	EACH	2	\$8,488.00	\$16,976.00
FOOTNOTE 13	W7	8" WATER SERVICE METER ASSEMBLY (CONTRACTOR TO PROVIDE WATER METER)	EACH	1	\$43,142.00	\$43,142.00
FOOTNOTE 13	W8	10" FIRE METER ASSEMBLY (CONTRACTOR TO PROVIDE WATER METER)	EACH	I	\$56,012.00	\$56,012.00
FOOTNOTE 14	W8	2" BACKFLOW PREVENTER ASSEMBLY	EACH	2	\$6,248.00	\$12,496.00
FOOTNOTE 14	W9	8" BACKFLOW PREVENTER ASSEMBLY	EACH	-	\$16,413.00	\$16,413.00
FOOTNOTE 14	W10	10" BACKFLOW PREVENTER ASSEMBLY	EACH	1	\$31,264.00	\$31,264.00
FOOTNOTE 17	W11	2IN SCHEDULE 40 PVC (INCLUDES ALL BENDS - BENDS SHALL BE GREATER THAN 6' RADIUS) (INCLUDES EXCAVATION AND BACKFILL) (BACKFLOW HEATER AND METER SUMP PUMP)	LF	528	\$13.00	\$6,864.00
FOOTNOTE 17	W12	ELECTRICAL WIRING - (BACKFLOW HEATER AND METER SUMP PUMP)	F	815	\$5.00	\$4,075.00
FOOTNOTE 17	W13	ELECTRICAL SERVICE CONNECTION (BACKFLOW HEATER AND METER SUMP PUMP)	L.S.	1	\$3,866.00	\$3,866.00
FOOTNOTE 12	W15	5-1/4" FIRE HYDRANT ASSEMBLY	EACH	2	\$10,550.00	\$21,100.00
FOOTNOTE 9	W16	CONNECT TO EXISTING 10" WATER MAIN	EACH	1	\$4,786.00	\$4,786.00
FOOTNOTE 9	W17	CONNECT TO EXISTING 8" WATER MAIN	EACH	5	\$3,753.00	\$18,765.00
FOOTNOTE 9	W18	CONNECT TO EXISTING 2" WATER SERVICE	EACH	2	\$2,356.00	\$4,712.00
FOOTNOTE 10	W19	CUT AND CAP EXISTING 2" WATER MAIN	EACH	s.	\$1,180.00	\$3,540.00
FOOTNOTE 10	W20	CUT AND CAP EXISTING 8" WATER MAIN	EACH	3	\$1,814.00	\$5,442.00

		PROJECT QUANTITIES (COORDINATE WITH FOOOTNOTES)			Civil Bid	
FOOTNOTES	ITEM NO.	FOOTNOTES ITEM NO. ITEM DESCRIPTION	TINU	QTY	UNIT PRICE TOTAL	TOTAL
FOOTNOTE 11	W21	10" GATE VALVE	EACH	6	\$2.768.00	\$16,608,00
					7-). 00:00	O.000,0±0
FOOTNOTE 18	UI	UTILITY RECORD DRAWINGS	LS	1	\$3,286.00	\$3,286.00

BASE BID

\$2,312,325.00

\$34,022.00	\$34,022.00	1	LS	PUMPS STATION MODIFICATIONS (BID ALTERNATE)	S7	FOOTNOTE 19
	0.0.0				The second secon	
	Civil Bid	さらなな 大大 ではて		BID ALTERNATE A		

TOTAL BID PRICE (BASE BID + BID ALTERNATE - A)

(THE TOTAL BID PRICE SHALL BE USED TO DETERMINE THE LOWEST BIDDER)

\$2,346,347.00

TO THE BEST OF MY KNOWLEDGE THIS IS A TRUE AND EXACT TABULATION OF BIDS RECEIVED. $\mathcal{E}/\mathcal{E}//\mathcal{G}$

Paul Holzen, Diector of Engineering